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‘ 5/5 sl ‘ Subatomic particle i)l ugs pasuzdl :Q.1

A
I Which subatomic particle is labeled by X in the figure below? Soliaf JAIL X Ldlay ad) Ladl G g sl e




0/5 :daMsll ' Surprising Result a:>laall axuill :Q.2

N P R = .. & i . . »
The below graph shows what Rutherford’s students expected 4513)_ a4 (e 3 s 3 ) (il dadi eyl oL Ml
from the gold foil experiment, what was the surprising results 3550 ) il Lehaay Jll Bnlad) Aol L ‘ ll 4al
that Rutherford’s students noticed after the experiment? P Ly Ll ey

Evenly distributed Cross sectlon of gold foll

Alpha particles to bounce straight back from the foil after

8150l Lgaladaial das Bydilia A8, e Wl Andl o))
bumping into the nucleus

Alpha particles to continue in a straight path

Alpha particles to be deflected by electrons Cilig pSIY1 L8 cans W Clasen Calyail

Alpha particles to disappear after striking the foil 280,L Lgaladaial das Wl Zasl glinal



Not precise nor accurate aasds jucq abguns e Q.3

5/5 :da\sl|

In the experiment measuring the boiling point of water, slial Jgaal) 3 il (e 3 el lde dajs il dujas
the data was recorded in the table below from three students, aids ybg dbagriaa p ailuld Haad Qb (o (DU 2D
which student’s measurements are considered not precise

nor accurate?

OWa)l A0 olas M)l bl

Students Boiling Point Data

i AT Al
Student Student Student
C B A
1 E\_!,L;NJ'-
95.2 °C 96.0°C 99.6 °C ;
Trial 1
2 ‘U}b.ai'n
99.3°C 95.8 °C 99.8 °C 2
Trial 2
3 Al gladl
91.9°C 96.7 °C 99.7°C .
Trial 3
B gial)
95.5 °C 96.2 °C 99.7°C -
Mean
Water boiling Point (accepted value) =100.0°C 100.0°C =(& gaial! dandll) sl HLIE d)s

Student A A

Student B B il

Student C

All three students’ measurements 2 agaluld DU O

are not precise nor accurate daa8y g ddagiiaa



Describing motion &as =)l waog ¥¥¥¥* Q.4; *¥ikx BONUS

474 :da\sll
~
e diagram below, which of the following statements describe 130 8jlaal) A pa Caead AN clyladl e L_._;i colial Lalazall
car motion if the post office is chosen as the reference point? $haasjall Aadi€ i pll Ci€a Hlaal
5 m@m i
D (01
. s R
North
West East
o 7]
South
telgasy = POST OFFICE =
20 km/h -
\ J I\ J

The car travels in 20 km/h west Uye 20 km/h de ) 8ylead! 2o

The car travels in 40 km/h west bye 40 km/h deaw 8yldl Sy

The car travels in 20 km/h east (5,4 20 km/h ds w 8! 2y

The car travels in 40 km/h east % 40 km/h e 8! 2y



0/5 sl

Which of the following does NOT represent a force pair?

When you push on a bike's brakes, the friction between

the tires and the road increases

In the bumper cars game when two cars crash into
each other each car exerts a force of the same size

on the other car

When a diver jumps off a diving board, the board pushes

the diver up

As you walk, your shoes push against the ground, and

the ground pushes back with an equal force

Force pair g8 zg; :Q.5

st g i ¥ Al 2B e

O S alaj ¢ Aahll Jalj o e Ladie
Gohlly Ly

e paliaD Laiey dualaba) ciliyall dual i
o Ml i G 8 duje IS 558 Laguan
$AY Le

il gl pdys ¢ agill ol o (e et iR Ledie
e

pay) e ohiall haiall dieg o s ol
iall e duds sl jlohey T (a1 (8



| | Sodium i | ogl 1Q.6
‘ 5/5 :dal=ll ium ion pgdgall Uyl :Q

Which of the following statements is correct regarding £ (hshadall JCall dasaa 46N Shlall e L;i

the diagram shown below?

11 electrons Gy 1
11 protons Bgig 1
Sodium atom (Na) Sodium ion poadge (sl (Na) pgs3se0 3,3

The sodium atom loses electron, and forms negative ion Al ol 1S9 ¢y 5 assigaall )3 243

The sodium atom loses electron, and forms positive ion Giage Ol GiSig ¢y <Y pdguall 5)) Nais

The sodium atom gains electron, and forms negative ion YT I (< TRTS | psdguall 8)) Cuis

The sodium atom gains electron, and forms positive ion e Ol 0339 ¢ S agagaall ) s




| A mixture of iron filling and sand lg wazdl 83l oo s :Q.7
515:..““‘.‘"‘ g Jols vzl 851y e bauds:Q

With Sara a mixture of iron filling and sand she wants to separate. Lagrany (o Leghaad 05 Jaylly 2aall 5ol (ye Jadd 5)l aa
Which of the following physical properties can Sara use? 8yl Lgardnes o Saa Aallal) Anbjdll (ailadll e ‘_.gi

Magnetism

Density

Solubility

Boiling point




‘ 0/5 :de sl Compound diagram S ;0 bhh=s :Q.8

In Ithe diagrams b:low, the cu;ﬂfefs; of dlffelrent Aaia o s il Ji celisf cillala ) B
colors represent the atoms of different elements. ¢ S o Jiaj ol (gf Ailiadl pucliall o 3

Which diagram represents a compound?




[ Noncontact Forces Jlxall ¢ :Q.9
5/5 sieNal SRR

Which of the following is an example of noncontact forces? o) o 8 e Jle 2 L las té‘

Magnetic forces

Friction

Normal force

Elastic force




i Negative accelaration wJlLw gL :Q.10
5/5 :dsVsll 2 s

The following graphs shows the speed vs. time, (ool Jslie deyudl olial Zulul) agell Cpd

which graph shows negative acceleration? il )l e Ja (Sl o) ‘_“ST

speed  (m/s) densl

time (s) eyt

speed  (m/s) aepdl

speed  (m/s) &ndl

time (s)o=t




E sl Increasing the surface area and the rate of a reaction Jeloil ac wg ol a>bus 6305 :Q.11
/9 e

How does increasing the surface area of reactants dle Uil lgall laud) dalis B2l Joxd i
increases the rate of a reaction? flelitl doyus b1 e

By decreasing the number of particles available to bump pary pdany adhiad daliall Clawall e Julis

into each other

By increasing the concentration of one reactant Baalg dlolite Bale S5 8ol

By increasing the collisions between reactants particles dlelitall dlgall cliia fp cilasleatll 52l

By decreasing the speed of particles, thus the particles S Beis pbad 9.\\:\]1_,3 Claseall d8ys do e Juliy
collide with greater force and more frequently s s YWy




Balancing chemical reactions asbeuSJl wMelad! aijlgo :Q.12

0/5 sVl
Oxygen O, reacts with phosphorus trichloride PCI; to &Y PCly gaudl) 2100 &b ae O GpaanlY) Jelin
produce phosphoryl trichloride POCI;, which chemical 0l bl Y alaal) (e Lfi ¢« POCl3 ()s0ull 2)4l<
equation is correctly balanced? Srnia IS0 Aig)5e

0O, + 2PCl; — 2POCl3

20, + 3PCl; — 2POCl3

0, + 2PCls — 3POCl;
30, + 3PCl; — 3POCl;




4/4 a0Vl Phase diagram physical change wJljall peill sdada=mi pow, ¥F¥¥*Q,13: ¥¥*%* BONUS

>

Which of the following diagram represents the change in dahiall 3 Jealall SUsadl) sl Jiad b les  Jaslads ey ngi
the area labeled with blue circle in the following graph? Soliaf JSAIL ol 30 5,500 da i gall

Temperature =»

3‘,",4-' iy »

Adding Thermal Energy =




; 0/5 etz ‘ The law of conservation of mass alis]| lhe> wgils :Q.14

Which of the following particle diagrams for a reaction shows Ol o el Je Ll 400N Cilasenll cillabadia (e &

the law of conservation of mass is being preserved? $Lhgin, ARSI Lads




Airplane & ,ilall :Q.15

0/5 eVl

An airplane flying at 3000 Km height shown in the figure below, ¢ olial J<al & L3000 Km glis)l e 3las 5)ilh
which of the following statements is NOT correct? flaiania b 40N &lylall “;i

20 553

At e oy 3l Ll

The airplane rising upwards at a variable speed Syiia de g Aol ) (alas il

@ The thrust and drag forces are balanced Oftlgia audly addl i

The lift and gravity forces are balanced Olgie Alally a3l gh



Properties of shaded elements alllaoll Lolall jailas :Q.16
5/5 s\l p »obiall yai Q

What is the distinct property for the shaded elements in ol (550 Jganll 8 Al ialiall Saaall Lualall Le

the periodic table below?

Luster

All found in soild form Llal AL gaien 2algn

Good conductors of electricity and thermal energy Byhally slygSll 5aa dlinsa

Has dull surface and poor conductors of electricity Bhally cliygSll Aljley caals b Lgd

and thermal energy




5/5 :ds\sll

Regarding the shaded elements in the following
diagrams, which of the following statements is correct?

~ Elements of 2 have higher density than elements of |

Elements of 1 can be found in nature as compounds only,

® while elements of 2 found as free elements

Elements of |1 react less quickly with oxygen than

elements of 2

Elements of 2 have higher melting points than

elements of ]

Comparison between properties of groups in the periodic table )91 JgazlU wlegozsll pailas aijlas :Q.17

ol il Al Al pabiall Glathy Lagd
faasaa 4l ) Hlall e "q‘

aplall b Jokh S pe By3em b el 1 b _yealial

O pe Lses ol Bypem Jolim 1 3 yealial
2 i pealial

1 & yealiall o el jlgaall cilaps L1 2 (3 jealial)



; Acceleration and net force sgall daxog & Lwill :Q.18
5/5 tdelall SRR

>

A car has a mass of 2500 Kg, if it accelerates at 5.0 m/s2 5.0 m/s2 Dl caeylaa 13) ¢ 2500 Kg lalae 45 Ll 5yl
What is the net force on the car? Hhudl Jo gl dhiana i e




Electrons in the atom &,3L wliguSJVl ¥**%%(Q,19; ***%x BONUS

of the following statements is incorrect regarding 5,200 il YL alats Lad dasua o€ 4000 Cfjluall pe L'.gi

ctrons in the atom?

A specific amount of energy is emitted, when an electron moves u_\.-.i ailh s5ise e g ST ot Laxie ¢ AiLhll (e Sa3aa 4 Canls
from a higher energy level to a lower energy level Ji il (ggiea )

The electron closer to the nucleus has a higher energy il e 21 g I g ed dala slgill I adY) oy SIS

than the electron farther from the nucleus

A specific amount of energy must be added, when an electron Bl (giwe (o O3S Jib Ledie ¢ dlhll (e 5a3ae d0aS A3l
moves from a lower energy level to a higher energy level o.l:.i ails ggiea Jl

For the electron closer to the nucleus has less energy than the gl e 20 g SV e Jal dalha slgil) ) Gl 0y 5SIU

electron farther from the nucleus




= Atomic number and Mass number LS| sa=lly os,4Jl sa=ll :Q.20
5/5 s Msll ‘ _ 5 .S, Q

>

Which of the following is NOT correct regarding AN Slarealls (3lats lod monia 528 b las L_gi
the three particles in the following table? olial Jganll 8 52yl

All three particles have the same number of protons Ciligigyll dae i (gga3 AV Slasaall IS

The three particles called isotopes SiUaslls 2D Cilaseal) and

Particle 3 has the highest number of neutrons Cilig gl sams eV psnial) 58 3 sl

All three particles have the same number of neutrons Cilig Agaill dae gl (ggad AN Silasal) JS




-5/5 deilsll Elements in group 18 ,ola)l acgaze :Q.21

>

What are the elements in group 18 called 18 dcgendl yalic aul Lo

in the periodic table of elements? ¢ yaliall (5)5al) Jgaall 3

: Periodic table of Elements
H
1008 | 2 2
1 yolisl )9l JgaJl
| &} Be
a8 o012
11 12
Na b
n% :\a.;g 3 4 5 I
19 20 21 2 23 24
K Ca Sc T Y Cr
10 | o8 | aa96 | o7es | so0s | 5200
37 38 39 40 41 42
RbL Sr b 4 Zr Nb Mo
B0 | e | 8891 | 912 | 9291 | 9593
ss 56 57 7”2 73 74
Cs Ba La Hr Ta w
e | wes | use | aves | isos |
87 88 89 104 105 106
Fr Ra Ac RI Db
G20 | 26 | o) | o) | Q) )
58 9
Ce Pr h
j09 |
90 9
Th Pa
[] 10

Alkaline earth metals o)1 A glall tlal)

Noble gases

Alkali metals A glall ljlal)




4/4 :is\sll

i >

In an experiment to investigate the effect of amount light on
increasing the microalgae oil production,

Researchers designed a light-distribution system as shown in

the figure below. Light rods distribute artificial light to microalgae in
a bioreactor. The bioreactor controls the environmental conditions
that affect how the microalgae grow. These conditions include
temperature, nutrient levels, carbon dioxide level, airflow, and light.

Which of following is the dependent variable for this experiment?

Dependent variable gLl jaxsl| ¥¥%%% Q,22; **¥xx BONUS

e Bl Qb 213 305 o solial) 2aaS 8k el A 4
ii:n‘jn
ol JSAIL miage b LS gpall il pllas (gialdll pasa

gl Joli) 3 2l il Lo Gelia ligun gpuall sl g5

lalll s 24 8 fp 2l gyl 3 gpal) Jolidl S
ruang Axdaall dgall Ciliginng hall dajs oy lall 23 Jads LR8N
PR PRIV L PRUPS R

fpall s 8l el b AW e ool

Type of microalgae dadall sl g5

The amount of oil produced

dal) &5 (gl cuill daeS

The temperature of the bioreactor ol Jelaall 5yl da o

The amount of microalgae’s exposure to light

Apaall Cllalal) 4l Cucayes 3 5l 2uS



Silicon ¢ :Q.23
0/5 :de sl ilicon veSulw :Q

Which of the following elements is similar to silicon’s oatladll g (Sl a4 A0 jualial) e
§ Jease 43S a2din

I >

properties and used as semiconductor

Germanium, Ge

Aluminum, Al

Carbon, C C (S




i 0/4 :d=Msll

Regarding physical properties, which of the following

statements is correct?

I3 The more you have of a substance, the greater its density is.

() The more you have of a substance, the greater its volume is.

The more you have of a substance, the lower the temperature

needed to freeze it.

The more you have of a substance, the less its electrical

conductivity.

physical properties auljuall (olgzll ¥*¥*%% (,24; **¥** BONUS

Adal) cluall e saaly (s cdtljalll alsally aley Lo
Yhaiaia

LS culy)) esalall 4ueS canlyy) LS

Jgans 2l ¢Balall S caalyjl LS

Wdeat] Ao U 5l all oy il cialal) due€ alyy) Lol
Ll

J Al Jaagdll e 13,8 el analll A€ culy) LS




0/5 :delsll

Scientists develop scientific theories and scientific laws after
many studies and investigations.
Which of the following statements most accurately compares

the difference between scientific theories and scientific laws?

A theory is usually more complex than a law

Most theories contain one hypothesis, while laws usually

contain many hypotheses

A scientific theory might be rejected if new information doesn’t
follow it. A scientific law might be rejected if new information

doesn’t support it

A scientific theory states that something will happen,

a scientific law attempts to explain why something happens.

The difference between scientific theories and scientific laws awlall Guilsally aelell bbbl o Byell :Q.25

ccligianlly ciluhall e maall day galel) ¢ gilally Aualal) LB elalal) auay
Saalal) (puilgally dusalall cliplall) oy Gl Ay Ol A laadl e g

Ol e Vs ST ol duplail) o

sale i cplgdl) O cpa ¢ Banly dadah aua il alie
Szl Ga uaall

o 38 . B Claglee UpadD ol 18] dualal) Ayl ady s 58
s2tal) lagledl aae s o 13 el (gl

s galell Cogilall Ly ¢ s La o of Zalall 2yl iy
Gaall 13 Egaa G




